
� No.154-10-1 �

No.154-10-1 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 10点）

(1) 88745÷ 29 = (2) 60288÷ 98 = (3) 18698÷ 15 = (4) 66332÷ 57 =

(5) 60345÷ 57 = (6) 47178÷ 67 = (7) 55024÷ 71 = (8) 95141÷ 35 =

(9) 21545÷ 36 = (10) 34325÷ 44 =

� 13th-note �



� No.154-10-1 �

No.154-10-1 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 10点）

(1) 88745 ÷ 29 =

3060 · · · 5
(2) 60288 ÷ 98 =

615 · · · 18
(3) 18698 ÷ 15 =

1246 · · · 8
(4) 66332 ÷ 57 =

1163 · · · 41

(5) 60345 ÷ 57 =

1058 · · · 39
(6) 47178 ÷ 67 =

704 · · · 10
(7) 55024 ÷ 71 =

774 · · · 70
(8) 95141 ÷ 35 =

2718 · · · 11

(9) 21545 ÷ 36 =

598 · · · 17
(10) 34325 ÷ 44 =

780 · · · 5

� 13th-note �



� No.154-10-2 �

No.154-10-2 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 10点）

(1) 20703÷ 45 = (2) 88604÷ 70 = (3) 43300÷ 44 = (4) 15299÷ 64 =

(5) 36613÷ 41 = (6) 35749÷ 46 = (7) 29753÷ 61 = (8) 99764÷ 41 =

(9) 69408÷ 46 = (10) 17956÷ 98 =

� 13th-note �



� No.154-10-2 �

No.154-10-2 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 10点）

(1) 20703 ÷ 45 =

460 · · · 3
(2) 88604 ÷ 70 =

1265 · · · 54
(3) 43300 ÷ 44 =

984 · · · 4
(4) 15299 ÷ 64 =

239 · · · 3

(5) 36613÷41 = 893 (6) 35749 ÷ 46 =

777 · · · 7
(7) 29753 ÷ 61 =

487 · · · 46
(8) 99764 ÷ 41 =

2433 · · · 11

(9) 69408 ÷ 46 =

1508 · · · 40
(10) 17956 ÷ 98 =

183 · · · 22

� 13th-note �



� No.154-10-3 �

No.154-10-3 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 10点）

(1) 25078÷ 24 = (2) 81127÷ 41 = (3) 63056÷ 39 = (4) 45569÷ 50 =

(5) 28760÷ 34 = (6) 99934÷ 50 = (7) 57138÷ 28 = (8) 68404÷ 46 =

(9) 60272÷ 62 = (10) 82825÷ 46 =

� 13th-note �



� No.154-10-3 �

No.154-10-3 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 10点）

(1) 25078 ÷ 24 =

1044 · · · 22
(2) 81127 ÷ 41 =

1978 · · · 29
(3) 63056 ÷ 39 =

1616 · · · 32
(4) 45569 ÷ 50 =

911 · · · 19

(5) 28760 ÷ 34 =

845 · · · 30
(6) 99934 ÷ 50 =

1998 · · · 34
(7) 57138 ÷ 28 =

2040 · · · 18
(8) 68404 ÷ 46 =

1487 · · · 2

(9) 60272 ÷ 62 =

972 · · · 8
(10) 82825 ÷ 46 =

1800 · · · 25

� 13th-note �



� No.154-10-4 �

No.154-10-4 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 10点）

(1) 89471÷ 12 = (2) 56865÷ 16 = (3) 99959÷ 80 = (4) 76796÷ 59 =

(5) 41721÷ 19 = (6) 57205÷ 45 = (7) 91780÷ 12 = (8) 24086÷ 26 =

(9) 75382÷ 51 = (10) 38898÷ 74 =

� 13th-note �



� No.154-10-4 �

No.154-10-4 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 10点）

(1) 89471 ÷ 12 =

7455 · · · 11
(2) 56865 ÷ 16 =

3554 · · · 1
(3) 99959 ÷ 80 =

1249 · · · 39
(4) 76796 ÷ 59 =

1301 · · · 37

(5) 41721 ÷ 19 =

2195 · · · 16
(6) 57205 ÷ 45 =

1271 · · · 10
(7) 91780 ÷ 12 =

7648 · · · 4
(8) 24086 ÷ 26 =

926 · · · 10

(9) 75382 ÷ 51 =

1478 · · · 4
(10) 38898 ÷ 74 =

525 · · · 48

� 13th-note �



� No.154-10-5 �

No.154-10-5 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 10点）

(1) 88435÷ 43 = (2) 63652÷ 22 = (3) 59332÷ 20 = (4) 84323÷ 24 =

(5) 78495÷ 24 = (6) 54727÷ 22 = (7) 30979÷ 38 = (8) 14311÷ 59 =

(9) 29098÷ 12 = (10) 88641÷ 43 =

� 13th-note �



� No.154-10-5 �

No.154-10-5 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 10点）

(1) 88435 ÷ 43 =

2056 · · · 27
(2) 63652 ÷ 22 =

2893 · · · 6
(3) 59332 ÷ 20 =

2966 · · · 12
(4) 84323 ÷ 24 =

3513 · · · 11

(5) 78495 ÷ 24 =

3270 · · · 15
(6) 54727 ÷ 22 =

2487 · · · 13
(7) 30979 ÷ 38 =

815 · · · 9
(8) 14311 ÷ 59 =

242 · · · 33

(9) 29098 ÷ 12 =

2424 · · · 10
(10) 88641 ÷ 43 =

2061 · · · 18

� 13th-note �



� No.154-10-6 �

No.154-10-6 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 10点）

(1) 37430÷ 67 = (2) 82513÷ 55 = (3) 99970÷ 39 = (4) 59829÷ 20 =

(5) 65330÷ 68 = (6) 54278÷ 53 = (7) 85793÷ 15 = (8) 87617÷ 26 =

(9) 24067÷ 49 = (10) 35279÷ 68 =

� 13th-note �



� No.154-10-6 �

No.154-10-6 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 10点）

(1) 37430 ÷ 67 =

558 · · · 44
(2) 82513 ÷ 55 =

1500 · · · 13
(3) 99970 ÷ 39 =

2563 · · · 13
(4) 59829 ÷ 20 =

2991 · · · 9

(5) 65330 ÷ 68 =

960 · · · 50
(6) 54278 ÷ 53 =

1024 · · · 6
(7) 85793 ÷ 15 =

5719 · · · 8
(8) 87617 ÷ 26 =

3369 · · · 23

(9) 24067 ÷ 49 =

491 · · · 8
(10) 35279 ÷ 68 =

518 · · · 55

� 13th-note �



� No.154-10-7 �

No.154-10-7 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 10点）

(1) 91222÷ 15 = (2) 39411÷ 65 = (3) 71251÷ 46 = (4) 12798÷ 59 =

(5) 81921÷ 35 = (6) 82858÷ 30 = (7) 26329÷ 25 = (8) 47868÷ 20 =

(9) 21138÷ 30 = (10) 52731÷ 82 =

� 13th-note �



� No.154-10-7 �

No.154-10-7 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 10点）

(1) 91222 ÷ 15 =

6081 · · · 7
(2) 39411 ÷ 65 =

606 · · · 21
(3) 71251 ÷ 46 =

1548 · · · 43
(4) 12798 ÷ 59 =

216 · · · 54

(5) 81921 ÷ 35 =

2340 · · · 21
(6) 82858 ÷ 30 =

2761 · · · 28
(7) 26329 ÷ 25 =

1053 · · · 4
(8) 47868 ÷ 20 =

2393 · · · 8

(9) 21138 ÷ 30 =

704 · · · 18
(10) 52731 ÷ 82 =

643 · · · 5

� 13th-note �



� No.154-10-8 �

No.154-10-8 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 10点）

(1) 79308÷ 44 = (2) 30997÷ 47 = (3) 35519÷ 58 = (4) 28673÷ 38 =

(5) 13497÷ 25 = (6) 23102÷ 26 = (7) 58956÷ 67 = (8) 59632÷ 38 =

(9) 17715÷ 11 = (10) 52981÷ 19 =

� 13th-note �



� No.154-10-8 �

No.154-10-8 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 10点）

(1) 79308 ÷ 44 =

1802 · · · 20
(2) 30997 ÷ 47 =

659 · · · 24
(3) 35519 ÷ 58 =

612 · · · 23
(4) 28673 ÷ 38 =

754 · · · 21

(5) 13497 ÷ 25 =

539 · · · 22
(6) 23102 ÷ 26 =

888 · · · 14
(7) 58956 ÷ 67 =

879 · · · 63
(8) 59632 ÷ 38 =

1569 · · · 10

(9) 17715 ÷ 11 =

1610 · · · 5
(10) 52981 ÷ 19 =

2788 · · · 9

� 13th-note �



� No.154-10-9 �

No.154-10-9 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 10点）

(1) 98259÷ 60 = (2) 39191÷ 22 = (3) 94238÷ 20 = (4) 63552÷ 50 =

(5) 65377÷ 28 = (6) 53408÷ 53 = (7) 48118÷ 87 = (8) 73143÷ 43 =

(9) 29554÷ 47 = (10) 20642÷ 20 =

� 13th-note �



� No.154-10-9 �

No.154-10-9 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 10点）

(1) 98259 ÷ 60 =

1637 · · · 39
(2) 39191 ÷ 22 =

1781 · · · 9
(3) 94238 ÷ 20 =

4711 · · · 18
(4) 63552 ÷ 50 =

1271 · · · 2

(5) 65377 ÷ 28 =

2334 · · · 25
(6) 53408 ÷ 53 =

1007 · · · 37
(7) 48118 ÷ 87 =

553 · · · 7
(8) 73143 ÷ 43 =

1701

(9) 29554 ÷ 47 =

628 · · · 38
(10) 20642 ÷ 20 =

1032 · · · 2

� 13th-note �



� No.154-10-10 �

No.154-10-10 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 10点）

(1) 79252÷ 20 = (2) 78961÷ 50 = (3) 42604÷ 39 = (4) 17029÷ 27 =

(5) 98271÷ 13 = (6) 43358÷ 46 = (7) 14163÷ 54 = (8) 30198÷ 49 =

(9) 36356÷ 12 = (10) 61033÷ 41 =

� 13th-note �



� No.154-10-10 �

No.154-10-10 （　　　%） （ 分 秒）

次の計算をしなさい。余りがあればそれも求めなさい。（１問 10点）

(1) 79252 ÷ 20 =

3962 · · · 12
(2) 78961 ÷ 50 =

1579 · · · 11
(3) 42604 ÷ 39 =

1092 · · · 16
(4) 17029 ÷ 27 =

630 · · · 19

(5) 98271 ÷ 13 =

7559 · · · 4
(6) 43358 ÷ 46 =

942 · · · 26
(7) 14163 ÷ 54 =

262 · · · 15
(8) 30198 ÷ 49 =

616 · · · 14

(9) 36356 ÷ 12 =

3029 · · · 8
(10) 61033 ÷ 41 =

1488 · · · 25

� 13th-note �


